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techniques
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1.0 M atch two resistive ter minations.

L — Section.

DC preserved: ( Low pass section. Also the inductor and capacitor may exchange places
for ahigh pass section. Same calculations apply)

Ellaay A
XL i % -
Rsmall = 50 % ; L Rlarge= 100
‘( i Jxc |
Calculate Qs = Qp = Sgrt[(Rlarge/Rsmall) -1] 1.0
Qs = XL/Rsmall
Qp = Rsmall/Xc
Therefore XL = Qs x Rsmall and XC = Rsmall/Qp 2.0

Knowing the frequency XI and XC can be calculated and the values of L and C can
Be calculated.

Transmission line match:

Zo = Sgrt(Rsmall.Rlarge)

Easiest matching is between real source and load. Ex: Here Z0=10 OhmMs
T 1
Rsmall =50 ‘Z Zo % Rlarge = 100
«——90 degrees——»
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If source and load is complex then use the following formulas:

Zo = Sgrt{[ (RS + XSH)RL — (RL? = XLARS)/(RS-RL)}
Electrical length in degrees:

Theta= Tan{[Zo(RL — RS)]/(XS*RL — XL*RS)}

Definition of eectrica length:

Theta =[(Iength of line/ wavelength on the media ( guide wavelength)]* 360.

Note: Sand L stand for source and load whether uppercase or lowercase.

Signal Processing Group Inc. www.signalpro.biz

3.0

4.0

5.0



